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@ sinA - cosA

@ cos A

-2

@ sinA

2
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@ tanA =2



3. Ty TI®9] aABC ol Ml o] BE WA g O = FotolEt

@ sin z cos T tan x

43° 0.6820 0,7314 0.9325

44° 0.6947 0.7193 0.9657

45° 0.7071 0.7071 1,0000

46° 0.7193 0.6947 1,.0355

47° 0.7314 0.6821 1,.0724




4. v 19olA BC 9] Aol F5HH?

A
9
D

30° 60°
B C

D 23 @ 343 B 443 @ 543 ® 63
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5. tanAzg U uf], sin A +cos A 9] & FoA?(H, 0°< A <90°)

17 7 5 19
@1—3 @1—3 ®ﬁ @ﬁ ®

ot| oo



6. The 1T 2L A7 ABC oA tan B 2] 2759

B 6meD 12cm

@%w/ﬁ ®§x/§ @? @%x@ ® 3
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2] &2 A2
= sin cos tan
32° 0.53 0.85 0.62
33° 0.54 0.84 0.65
34° 0.56 0.83 0.67
35° 0.57 0.82 0.70
36° 0.59 0.81 0.73
37° 0.60 0.80 0.75

@ sin32° =0.53
® tan36° =0.73

3 3co0s36° = 2.44

@ cos34° =0.83

@ 2sin35° =1.14
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oA BC=8 ¢ o, cosA x
tan A

OF3} o] "z E2] o]zt 8.5 9 ¥ O o WHsH= AABC
xsinA 9 & otolet
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10. tanA = sin® 35° +sin® 55° + tan 28° X tan 62° 4 W], sin? A — 2 cos? A
o] 32 totoiet,
(<h, 0° < A <90°)
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